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RleE1: BA% 1, f, ITRL, x=(1, 2)IZBIT5H2RD
TAS IR ZERDITELY.

f,(X, X;) = % logXx, =X, log X f, (X, %) = Xl2 +X22 -1

(1,2)I2H T HEBUE, BEEAVRIL, Nyt1TiZ7EFH)
ISETEL, 2ROTAZ—mLUDRKICTRATIERDH S
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RE5E2 : A% f(z,y) =22 — 2y + 2y% — 2z + ¥TY
[ZDWNTROEBEE RS SN,

QBEBRIMLEAYEITHEE R &

(0)E 5 (0,0) 0\ B/ MENE D, REHEEERAVTHEE &

Dx —y — 2 4+ %Y
Vf(a:,y)=< _x_|_4y_|_eac—|-y )

D4 eTTY 1 4 %Y
Hf(wy) = ( 14 eTTY 44 7Y >

(x,y)=(0,0)DEE Vf(0,0) = < 1 )
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RE5E2 : A% f(z,y) =22 — 2y + 2y% — 2z + ¥TY
[ZDWNTROMEBEE RS SN,

)R f MSRBDIE 2+y ZBIRLIZEZD fIZHRL, T

DEZEERO L. 512, B E, BRE, #EOLTATH

Bh, 2ROEEEEEEAVTHEE &

g(z,y) =22 —ay+2y% — 2z EH L,
Vy(z,y) = ( Qfx__l‘?f ;yz ) Hg(z,y) = ( _21 _41 )

EoTEZAIZ(8/7, 2/7)DH
CHETHOAYEITIIFERELD T,
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RIRE3 : X752 X 29751 A I2xL. RDBEFRZREAE K,
AlZFFIEFEE © a,,20, a,, 20, a,4a,, —a,,2=0
(EVMBEZEDRREI.TOEZZSEICE LK)

a, Et-lZa,, AP ODEEL, a, (Ef-1Ea,,) ITEBEYEAH
EANDT, B2 TRUIEEEMICRT 25 S F 4L CEED
TE5.

a,,=a,,=0D EZDFEAIE, CNoDETEIVENHELZL D TE
ENDETHD. (R ZOBEDIIAKEE)
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